Module   10
Term 4                                                 Test                                                   Var.0

I. Choose the correct form.                                                             1 Point
1. In a new Japanese car the information (to be receiving/to be received) by the driver will come through a navigation earth satellite.

2. There is no doubt that mankind will be able (to have explored/to explore) the solar system by using nuclear rockets.
3. The unsatisfactory results of Bell’s experiments (forced/has been forced) him to change the method of testing.
4. (To develop/To have been developed) a new submersible craft with a manipulator is not an easy task.

II. Translate into Russian.                                                             4 Points
1. Morse’s interest in electricity made him start the experiment with it.

2. Infrared rays emitted by any object on the road are to be intensive enough 

for sensors to pick them up.

3. To combine laser and thermonuclear reaction is a very interesting problem for the scientists in many countries .

4. High temperature alloys make it possible for jet engines to be operating

under severe conditions for a long period of time.
III. Translate into English using an infinitive in every sentence .   
                                                                                                           3 Points
1. Ученые во многих странах работают над проблемой применения лазера в промышленности.

2. Физики нашей страны разработали установку для проведения экспериментов с лучами лазера.

3. В настоящее время лазер используется для контроля термоядерной реакции.

IV. Put the question to the underlined group of words.               2 Points
1. To conduct physical experiments with laser beams, Russian physicists have developed large laser installations. 

2. The laser’s most important potential may be its use in communications.

